

Some properties of special polynomials arising from p -adic integrals on \mathbb{Z}_p

Dae San Kim

*Department of Mathematics,
Sogang University, Seoul 121-742,
Republic of Korea.
E-mail: dskim@sogang.ac.kr*

Taekyun Kim

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.
E-mail: tkkim@kw.ac.kr*

Hyuck-In Kwon

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.
E-mail: sura@kw.ac.kr*

Jong-Jin Seo¹

*Department of Applied Mathematics,
Pukyong National University,
Busan, Republic of Korea.
E-mail: seo2011@pknu.ac.kr*

Abstract

In this paper, we study some properties of special polynomials associated with Korobov polynomials and give some new identities of those polynomials by using p -adic invariant integrals on \mathbb{Z}_p .

AMS subject classification: 05A15, 11B75, 11B83, 11D88.

Keywords: Korobov polynomial, Korobov and Daehee mixed-type polynomial, Korobov and Daehee mixed-type polynomial of the second kind, p -adic invariant integral.

¹Corresponding author.

1. Introduction

Let p be a fixed prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p , and \mathbb{C}_p denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p , respectively. The p -adic norm $|\cdot|_p$ is normalized as $|p|_p = \frac{1}{p}$. Let $UD(\mathbb{Z}_p)$ be the space of uniformly differentiable functions on \mathbb{Z}_p . For $f \in UD(\mathbb{Z}_p)$, the p -adic invariant integral on \mathbb{Z}_p is given by

$$\begin{aligned} I_0(f) &= \int_{\mathbb{Z}_p} f(x) d\mu_0(x) \\ &= \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{x=0}^{p^N-1} f(x), \quad (\text{see [9, 11, 12, 10, 15, 13, 14, 16]}). \end{aligned} \quad (1.1)$$

From (1.1), we have

$$I_0(f_1) = I_0(f) + f'(0), \quad (\text{see [4, 14]}), \quad (1.2)$$

where

$$f_1(x) = f(x+1), \quad f'(0) = \left. \frac{df(x)}{dx} \right|_{x=0}.$$

Let us assume that q is an indeterminate in \mathbb{C}_p with $|1-q|_p < p^{-\frac{1}{p-1}}$. As is well known, Korobov polynomials are defined by the generating function to be

$$\frac{qt}{(1+t)^q - 1} (1+t)^x = \sum_{n=0}^{\infty} P_{n,q}(x) \frac{t^n}{n!}, \quad (\text{see [17, 26]}). \quad (1.3)$$

When $x=0$, $P_n = P_n(0)$ are called Korobov numbers. It is known that the Daehee polynomials are given by the generating function to be

$$\frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}, \quad (\text{see [12, 10]}).$$

When $x=0$, $D_n = D_n(0)$ are called Daehee numbers.

In this paper, we study some properties of special polynomials associated with Korobov polynomials and give some new identities of those polynomials by using p -adic invariant integrals on \mathbb{Z}_p .

2. Some special polynomials

In this section, we assume that $t, q (\neq 0) \in \mathbb{C}_p$ such that $|t|_p < |q|_p^{-1} p^{-\frac{1}{p-1}}$. Let us take $f(y) = (1+t)^{\frac{y}{q}+x}$. Then, by (1.2), we get

$$\begin{aligned} \int_{\mathbb{Z}_p} (1+t)^{qy+x} d\mu_0(y) &= \frac{q \log(1+t)}{(1+t)^q - 1} (1+t)^x \\ &= \left(\frac{\log(1+t)}{t} \right) \left(\frac{qt(1+t)^x}{(1+t)^q - 1} \right). \end{aligned} \tag{2.4}$$

Now, we observe that

$$\begin{aligned} \left(\frac{\log(1+t)}{t} \right) \left(\frac{qt(1+t)^x}{(1+t)^q - 1} \right) &= \left(\sum_{l=0}^{\infty} D_l \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} P_{m,q}(x) \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n P_{m,q}(x) D_{n-m} \binom{n}{m} \right) \frac{t^n}{n!}. \end{aligned} \tag{2.5}$$

Therefore, by (2.4) and (2.5), we obtain the following theorem.

Theorem 2.1. For $n \geq 0$, we have

$$\int_{\mathbb{Z}_p} (qy+x)_n d\mu_0(y) = \sum_{m=0}^n P_{m,q}(x) D_{n-m} \binom{n}{m},$$

where $(x)_n = x(x-1)\cdots(x-n+1)$.

The Stirling number of the first kind is given by

$$(x)_n = \sum_{l=0}^n S_1(n, l) x^l, \quad (n \geq 0). \tag{2.6}$$

The Stirling number of the second kind is defined by

$$x^n = \sum_{l=0}^n S_2(n, l) (x)_l, \quad (n \geq 0), \quad (\text{see [21, 24, 23, 22, 25, 26, 27]}).$$

By (1.2), we easily get

$$\begin{aligned} \int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_0(y) &= \frac{t}{e^t - 1} e^{xt} \\ &= \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \end{aligned} \tag{2.7}$$

(see [2, 1, 3, 4, 5, 6, 7, 8, 9, 11, 12, 10, 15, 13, 14, 16, 17, 18, 19, 20, 21, 24, 23, 22, 25, 26, 27]), where $B_n(x)$ are ordinary Bernoulli polynomials.

Thus, from (2.7), we have

$$\int_{\mathbb{Z}_p} (x+y)^n d\mu_0(y) = B_n(x), \quad (n \geq 0). \quad (2.8)$$

When $x = 0$, $B_n = B_n(0)$ are called the Bernoulli numbers.

By (2.6), we see that

$$\begin{aligned} \int_{\mathbb{Z}_p} (qy+x)_n d\mu_0(y) &= \sum_{l=0}^n S_1(n, l) \int_{\mathbb{Z}_p} (qy+x)^l d\mu_0(y) \\ &= \sum_{l=0}^n S_1(n, l) q^l \int_{\mathbb{Z}_p} \left(y + \frac{x}{q}\right)^l d\mu_0(y) \\ &= \sum_{l=0}^n S_1(n, l) q^l B_l\left(\frac{x}{q}\right). \end{aligned} \quad (2.9)$$

Therefore, by Theorem 2.1 and (2.9), we obtain the following theorem.

Theorem 2.2. For $n \geq 0$, we have

$$\sum_{l=0}^n S_1(n, l) q^l B_l\left(\frac{x}{q}\right) = \sum_{m=0}^n P_{m,q}(x) D_{n-m}\binom{n}{m}.$$

Remark 2.3. Let us define Korobov and Daehee mixed-type polynomials as follows:

$$T_{n,q}(x) = \int_{\mathbb{Z}_p} (qy+x)_n d\mu_0(y), \quad (n \geq 0). \quad (2.10)$$

Then, by (2.10), we get

$$T_{n,q}(x) = \sum_{m=0}^n \binom{n}{m} P_{m,q}(x) D_{n-m}.$$

The generating function of $T_{n,q}(x)$ is given by

$$\sum_{n=0}^{\infty} T_{n,q}(x) \frac{t^n}{n!} = \frac{q \log(1+t)}{(1+t)^q - 1} (1+t)^x. \quad (2.11)$$

Replacing t by $e^t - 1$, we have

$$\begin{aligned} \sum_{n=0}^{\infty} T_{n,q}(x) \frac{(e^t - 1)^n}{n!} &= \frac{qt}{e^{qt} - 1} e^{xt} \\ &= \sum_{n=0}^{\infty} q^n B_n\left(\frac{x}{q}\right) \frac{t^n}{n!}, \end{aligned} \quad (2.12)$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} T_{n,q}(x) \frac{(e^t - 1)^n}{n!} &= \sum_{n=0}^{\infty} T_{n,q}(x) \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m T_{n,q}(x) S_2(m, n) \right) \frac{t^m}{m!}. \end{aligned} \tag{2.13}$$

Therefore, by (2.12) and (2.13), we obtain the following theorem.

Theorem 2.4. For $m \geq 0$, we have

$$q^m B_m \left(\frac{x}{q} \right) = \sum_{n=0}^m \left(\sum_{l=0}^n \binom{n}{l} P_{l,q}(x) D_{n-l} \right) S_2(m, n),$$

and

$$\left(\sum_{n=0}^m \binom{m}{n} P_{n,q}(x) D_{m-n} \right) = \sum_{n=0}^m S_1(m, n) q^n B_n \left(\frac{x}{q} \right).$$

In view of (2.10), we define the Korobov and Daehee mixed-type polynomials of the second kind as follows:

$$\widehat{T}_{n,q}(x) = \int_{\mathbb{Z}_p} (-qy + x)_n d\mu_0(y), \quad (n \geq 0). \tag{2.14}$$

The generating function of $\widehat{T}_{n,q}(x)$ are given by

$$\begin{aligned} \sum_{n=0}^{\infty} \widehat{T}_{n,q}(x) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} (-qy + x)_n d\mu_0(y) \frac{t^n}{n!} \\ &= \int_{\mathbb{Z}_p} (1+t)^{-qy+x} d\mu_0(y). \end{aligned} \tag{2.15}$$

From (1.2), we have

$$\int_{\mathbb{Z}_p} (1+t)^{-qy} d\mu_0(y) = \frac{q \log(1+t)}{(1+t)^q - 1} (1+t)^q.$$

Thus, we have

$$\sum_{n=0}^{\infty} \widehat{T}_{n,q}(x) \frac{t^n}{n!} = \frac{q \log(1+t)}{(1+t)^q - 1} (1+t)^{q+x}. \tag{2.16}$$

From (2.14), we have

$$\begin{aligned} \widehat{T}_{n,q}(x) &= \int_{\mathbb{Z}_p} (-qy + x)_n d\mu_0(y) \\ &= \sum_{l=0}^n S_1(n, l) (-1)^l q^l \int_{\mathbb{Z}_p} \left(y - \frac{x}{q}\right)^l d\mu_0(y) \\ &= \sum_{l=0}^n S_1(n, l) (-1)^l q^l B_l\left(-\frac{x}{q}\right). \end{aligned} \tag{2.17}$$

We observe that

$$\begin{aligned} \sum_{n=0}^{\infty} B_n(-x) \frac{t^n}{n!} &= \frac{t}{e^t - 1} e^{-xt} = \frac{t}{1 - e^{-t}} e^{-(1+x)t} \\ &= \frac{-t}{e^t - 1} e^{-t(x+1)} = \sum_{n=0}^{\infty} B_n(1+x) (-1)^n \frac{t^n}{n!}. \end{aligned} \tag{2.18}$$

By (2.17) and (2.18), we get

$$\widehat{T}_{n,q}(x) = \sum_{l=0}^n S_1(n, l) q^l B_l\left(1 + \frac{x}{q}\right). \tag{2.19}$$

By replacing t by $e^t - 1$ in (2.16), we get

$$\begin{aligned} \sum_{n=0}^{\infty} \widehat{T}_{n,q}(x) \frac{1}{n!} (e^t - 1)^n &= \frac{qt}{e^{qt} - 1} e^{(q+x)t} \\ &= \sum_{n=0}^{\infty} q^n B_n\left(1 + \frac{x}{q}\right) \frac{t^n}{n!}, \end{aligned} \tag{2.20}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} \widehat{T}_{n,q}(x) \frac{1}{n!} (e^t - 1)^n &= \sum_{n=0}^{\infty} \widehat{T}_{n,q}(x) \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m \widehat{T}_{n,q}(x) S_2(m, n) \right) \frac{t^m}{m!}. \end{aligned} \tag{2.21}$$

Therefore, by (2.19), (2.20) and (2.21), we obtain the following theorem.

Theorem 2.5. For $m \geq 0$, we have

$$q^m B_m\left(1 + \frac{x}{q}\right) = \sum_{n=0}^m S_2(m, n) \widehat{T}_{n,q}(x),$$

and

$$\widehat{T}_{m,q}(x) = \sum_{n=0}^m S_1(m, n) q^n B_n \left(1 + \frac{x}{q}\right).$$

We observe that

$$\begin{aligned} (-1)^n \frac{\widehat{T}_{n,q}}{n!} &= \frac{(-1)^n}{n!} \int_{\mathbb{Z}_p} (-qy)_n d\mu_0(y) = \int_{\mathbb{Z}_p} \binom{qy+n-1}{n} d\mu_0(y) \quad (2.22) \\ &= \sum_{l=0}^n \binom{n-1}{n-l} \int_{\mathbb{Z}_p} \binom{qy}{l} d\mu_0(y) \\ &= \sum_{l=1}^n \binom{n-1}{l-1} \frac{1}{l!} \int_{\mathbb{Z}_p} (qy)_l d\mu_0(y) \\ &= \sum_{l=1}^n \binom{n-1}{l-1} \frac{T_{l,q}}{l!}. \end{aligned}$$

Therefore, by (2.22), we obtain the following theorem.

Theorem 2.6. For $n \geq 1$, we have

$$(-1)^n \frac{\widehat{T}_{n,q}}{n!} = \sum_{l=1}^n \binom{n-1}{l-1} \frac{T_{l,q}}{l!},$$

and

$$(-1)^n \frac{T_{n,q}}{n!} = \sum_{l=1}^n \binom{n-1}{l-1} \frac{\widehat{T}_{l,q}}{l!},$$

where $T_{n,q} = T_{n,q}(0)$, $\widehat{T}_{n,q} = \widehat{T}_{n,q}(0)$.

For $\alpha \in \mathbb{N}$, let us consider Korobov and Daehee mixed-type polynomials of order α as follows:

$$T_{n,q}^{(\alpha)}(x) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (qx_1 + \cdots + qx_\alpha + x)_n d\mu_0(x_1) \cdots d\mu_0(x_\alpha). \quad (2.23)$$

Then, we have

$$\begin{aligned} T_{n,q}^{(\alpha)}(x) & \quad (2.24) \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (qx_1 + \cdots + qx_\alpha + x)_n d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\ &= \sum_{l=0}^n S_1(n, l) \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (qx_1 + \cdots + qx_\alpha + x)^l d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\ &= \sum_{l=0}^n S_1(n, l) q^l \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(x_1 + \cdots + x_\alpha + \frac{x}{q}\right)^l d\mu_0(x_1) \cdots d\mu_0(x_\alpha). \end{aligned}$$

We observe that

$$\begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} e^{(x_1 + \cdots + x_\alpha + x)t} d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\ &= \left(\frac{t}{e^t - 1} \right)^\alpha e^{xt} = \sum_{n=0}^{\infty} B_n^{(\alpha)}(x) \frac{t^n}{n!}, \end{aligned} \quad (2.25)$$

where $B_n^{(\alpha)}(x)$ are the Bernoulli polynomials of order α .

By (2.24) and (2.25), we get

$$T_{n,q}^{(\alpha)}(x) = \sum_{l=0}^n S_1(n, l) q^l B_l^{(\alpha)}\left(\frac{x}{q}\right). \quad (2.26)$$

From (2.23), we can derive the generating function of $T_{n,q}^{(\alpha)}(x)$ as follows:

$$\begin{aligned} & \sum_{n=0}^{\infty} T_{n,q}^{(\alpha)}(x) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (qx_1 + \cdots + qx_\alpha + x)_n d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \frac{t^n}{n!} \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \sum_{n=0}^{\infty} \binom{qx_1 + \cdots + qx_\alpha + x}{n} t^n d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+t)^{qx_1 + \cdots + qx_\alpha + x} d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\ &= (1+t)^x \left(\frac{q \log(1+t)}{(1+t)^q - 1} \right)^\alpha. \end{aligned} \quad (2.27)$$

As is known, the Daehee numbers of order α are defined by the generating function to be

$$\left(\frac{\log(1+t)}{t} \right)^\alpha = \sum_{l=0}^{\infty} D_l^{(\alpha)} \frac{t^l}{l!}, \quad (\text{see [12]}). \quad (2.28)$$

Now, we define the Korobov polynomials of order α as follows:

$$\left(\frac{qt}{(1+t)^q - 1} \right)^\alpha (1+t)^x = \sum_{m=0}^{\infty} P_{m,q}^{(\alpha)}(x) \frac{t^m}{m!}. \quad (2.29)$$

From (2.28) and (2.29), we have

$$\begin{aligned} \left(\frac{q \log(1+t)}{(1+t)^q - 1}\right)^\alpha (1+t)^x &= \left(\frac{\log(1+t)}{t}\right)^\alpha \left(\frac{qt}{(1+t)^q - 1}\right)^\alpha (1+t)^x \quad (2.30) \\ &= \left(\sum_{l=0}^\infty D_l^{(\alpha)} \frac{t^l}{l!}\right) \left(\sum_{m=0}^\infty P_{m,q}^{(\alpha)}(x) \frac{t^m}{m!}\right) \\ &= \sum_{n=0}^\infty \left(\sum_{l=0}^n \binom{n}{l} D_l^{(\alpha)} P_{n-l,q}^{(\alpha)}(x)\right) \frac{t^n}{n!}. \end{aligned}$$

Therefore, by (2.27) and (2.30), we obtain the following theorem.

Theorem 2.7. For $n \geq 0$, we have

$$T_{n,q}^{(\alpha)}(x) = \sum_{l=0}^n \binom{n}{l} D_l^{(\alpha)} P_{n-l,q}^{(\alpha)}(x).$$

By replacing t by $e^t - 1$ in (2.27), we get

$$\begin{aligned} \sum_{n=0}^\infty T_{n,q}^{(\alpha)}(x) \frac{(e^t - 1)^n}{n!} &= \left(\frac{qt}{e^{qt} - 1}\right)^\alpha e^{xt} \quad (2.31) \\ &= \sum_{n=0}^\infty B_n^{(\alpha)}\left(\frac{x}{q}\right) q^n \frac{t^n}{n!}, \end{aligned}$$

and

$$\begin{aligned} \sum_{n=0}^\infty T_{n,q}^{(\alpha)}(x) \frac{(e^t - 1)^n}{n!} &= \sum_{n=0}^\infty T_{n,q}^{(\alpha)}(x) \sum_{m=n}^\infty S_2(m, n) \frac{t^m}{m!} \quad (2.32) \\ &= \sum_{m=0}^\infty \left(\sum_{n=0}^m T_{n,q}^{(\alpha)}(x) S_2(m, n)\right) \frac{t^m}{m!}. \end{aligned}$$

Therefore, by (2.31) and (2.32), we obtain the following theorem:

Theorem 2.8. For $m \geq 0$, we have

$$q^m B_m^{(\alpha)}\left(\frac{x}{q}\right) = \sum_{n=0}^m \left(\sum_{l=0}^n \binom{n}{l} P_{l,q}^{(\alpha)}(x) D_{n-l}^{(\alpha)}\right) S_2(m, n),$$

and

$$\left(\sum_{n=0}^m \binom{m}{n} P_{n,q}^{(\alpha)}(x) D_{m-n}^{(\alpha)}\right) = \sum_{n=0}^m S_1(m, n) q^n B_n^{(\alpha)}\left(\frac{x}{q}\right).$$

Let us consider Daehee and Korobov mixed-type polynomials of the second kind with order α as follows:

$$\widehat{T}_{n,q}^{(\alpha)}(x) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (-qx_1 - qx_2 - \cdots - qx_\alpha + x)_n d\mu_0(x_1) \cdots d\mu_0(x_\alpha), \quad (2.33)$$

where $n \geq 0$.

Thus, by (2.33), we get

$$\begin{aligned} \widehat{T}_{n,q}^{(\alpha)}(x) &= \sum_{l=0}^n S_1(n, l) \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (-qx_1 - \cdots - qx_\alpha + x)^l d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\ &= \sum_{l=0}^n S_1(n, l) (-1)^l q^l \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(x_1 + \cdots + x_\alpha - \frac{x}{q}\right)^l d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\ &= \sum_{l=0}^n S_1(n, l) (-1)^l q^l B_l^{(\alpha)}\left(-\frac{x}{q}\right). \end{aligned} \quad (2.34)$$

Now, we observe that

$$\begin{aligned} \sum_{n=0}^{\infty} B_n^{(\alpha)}(-x) \frac{t^n}{n!} &= \left(\frac{t}{e^t - 1}\right)^\alpha e^{-xt} \\ &= \left(\frac{-t}{e^{-t} - 1}\right)^\alpha e^{-(x+\alpha)t} \\ &= \sum_{n=0}^{\infty} B_n^{(\alpha)}(x + \alpha) (-1)^n \frac{t^n}{n!}. \end{aligned} \quad (2.35)$$

Thus, by (2.35), we get

$$B_n^{(\alpha)}(-x) = (-1)^n B_n^{(\alpha)}(x + \alpha), \quad (n \geq 0). \quad (2.36)$$

From (2.34) and (2.36), we have

$$\begin{aligned} \widehat{T}_{n,q}^{(\alpha)}(x) &= \sum_{l=0}^n (-1)^l S_1(n, l) q^l B_l^{(\alpha)}\left(-\frac{x}{q}\right) \\ &= \sum_{l=0}^n S_1(n, l) q^l B_l^{(\alpha)}\left(\alpha + \frac{x}{q}\right). \end{aligned} \quad (2.37)$$

By (2.33), we get

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \widehat{T}_{n,q}^{(\alpha)}(x) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (-qx_1 - \cdots - qx_\alpha + x)_n d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \frac{t^n}{n!} \\
 &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+t)^{-qx_1 - \cdots - qx_\alpha + x} d\mu_0(x_1) \cdots d\mu_0(x_\alpha) \\
 &= (1+t)^x \left(\frac{q \log(1+t)}{(1+t)^q - 1} (1+t)^q \right)^\alpha \\
 &= (1+t)^{x+q\alpha} \left(\frac{q \log(1+t)}{(1+t)^q - 1} \right)^\alpha.
 \end{aligned} \tag{2.38}$$

Note that

$$\begin{aligned}
 & \left(\frac{q \log(1+t)}{(1+t)^q - 1} \right)^\alpha (1+t)^{x+q\alpha} \\
 &= \left(\frac{\log(1+t)}{t} \right)^\alpha \left(\frac{qt}{(1+t)^q - 1} \right)^\alpha (1+t)^{x+q\alpha} \\
 &= \left(\sum_{l=0}^{\infty} D_l^{(\alpha)} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} P_{m,q}^{(\alpha)}(x+q\alpha) \frac{t^m}{m!} \right) \\
 &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} D_l^{(\alpha)} P_{n-l,q}^{(\alpha)}(x+q\alpha) \right) \frac{t^n}{n!}.
 \end{aligned} \tag{2.39}$$

Therefore, by (2.38) and (2.39), we obtain the following theorem.

Theorem 2.9. For $n \geq 0$, we have

$$\widehat{T}_{n,q}^{(\alpha)}(x) = \sum_{l=0}^n \binom{n}{l} D_l^{(\alpha)} P_{n-l,q}^{(\alpha)}(x+q\alpha).$$

Replacing t by $e^t - 1$ in (2.38), we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} \widehat{T}_{n,q}^{(\alpha)}(x) \frac{(e^t - 1)^n}{n!} &= \left(\frac{qt}{e^{qt} - 1} \right)^\alpha e^{(x+q\alpha)t} \\
 &= \sum_{n=0}^{\infty} B_n^{(\alpha)} \left(\frac{x}{q} + \alpha \right) q^n \frac{t^n}{n!},
 \end{aligned} \tag{2.40}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} \widehat{T}_{n,q}^{(\alpha)}(x) \frac{(e^t - 1)^n}{n!} &= \sum_{n=0}^{\infty} \widehat{T}_{n,q}^{(\alpha)}(x) \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m \widehat{T}_{n,q}^{(\alpha)}(x) S_2(m, n) \right) \frac{t^m}{m!}. \end{aligned} \quad (2.41)$$

Therefore, by (2.40) and (2.41), we obtain the following theorem.

Theorem 2.10. For $m \geq 0$, we have

$$q^m B_m^{(\alpha)} \left(\alpha + \frac{x}{q} \right) = \sum_{n=0}^m \sum_{l=0}^n \binom{n}{l} D_{n-l}^{(\alpha)} P_{l,q}^{(\alpha)}(x + q\alpha) S_2(m, n),$$

and

$$\sum_{n=0}^m \binom{m}{n} D_{m-n}^{(\alpha)} P_{n,q}^{(\alpha)}(x + q\alpha) = \sum_{n=0}^m S_1(m, n) q^n B_n^{(\alpha)} \left(\alpha + \frac{x}{q} \right).$$

Let $\widehat{T}_{n,q}^{(\alpha)} = \widehat{T}_{n,q}^{(\alpha)}(0)$, $T_{n,q}^{(\alpha)} = T_{n,q}^{(\alpha)}(0)$. Then, we easily get

$$(-1)^n \frac{\widehat{T}_{n,q}^{(\alpha)}}{n!} = \sum_{l=1}^n \binom{n-1}{l-1} \frac{T_{l,q}^{(\alpha)}}{l!},$$

and

$$(-1)^n \frac{T_{n,q}^{(\alpha)}}{n!} = \sum_{l=1}^n \binom{n-1}{l-1} \frac{\widehat{T}_{l,q}^{(\alpha)}}{l!},$$

where $n \geq 1$.

References

- [1] R. P. Agarwal and C. S. Ryo, *Numerical computations of the roots of the generalized twisted q -Bernoulli polynomials*, Neural Parallel Sci. Comput. **15** (2007), no. 2, 193–206. MR 2357405 (2008i:65095)
- [2] S. Araci, M. Acikgoz, and E. Şen, *Some New Formulae for Genocchi Numbers and Polynomials Involving Bernoulli and Euler Polynomials*, Int. J. Math. Math. Sci. (2014), Art. ID 760613, 7. MR 3200831
- [3] A. Bayad and T. Kim, *Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **20** (2010), no. 2, 247–253. MR 2656975 (2011d:11274)
- [4] J. Choi, D. S. Kim, T. Kim, and Y. H. Kim, *Some arithmetic identities on Bernoulli and Euler numbers arising from the p -adic integrals on \mathbb{Z}_p* , Adv. Stud. Contemp. Math. (Kyungshang) **22** (2012), no. 2, 239–247. MR 2961617

- [5] D. Ding and J. Yang, *Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **20** (2010), no. 1, 7–21. MR 2597988 (2011k:05030)
- [6] T. Ernst, *q -Leibniz functional matrices with applications to q -Pascal and q -Stirling matrices*, Adv. Stud. Contemp. Math. (Kyungshang) **22** (2012), no. 4, 537–555. MR 3051463
- [7] S. Gaboury, R. Tremblay, and B.-J. Fugère, *Some explicit formulas for certain new classes of Bernoulli, Euler and Genocchi polynomials*, Proc. Jangjeon Math. Soc. **17** (2014), no. 1, 115–123. MR 3184467
- [8] Y. He and W. Zhang, *A convolution formula for Bernoulli polynomials*, Ars Combin. **108** (2013), 97–104. MR 3060257
- [9] K.-W. Hwang, D. V. Dolgy, D. S. Kim, T. Kim, and S. H. Lee, *Some theorems on Bernoulli and Euler numbers*, Ars Combin. **109** (2013), 285–297. MR 3087218
- [10] D. S. Kim and T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci. (Ruse) **7** (2013), no. 117-120, 5969–5976. MR 3141903
- [11] D. S. Kim, T. Kim, Y. H. Kim, and S. H. Lee, *Some arithmetic properties of Bernoulli and Euler numbers*, Adv. Stud. Contemp. Math. (Kyungshang) **22** (2012), no. 4, 467–480. MR 3051453
- [12] D. S. Kim, T. Kim, and J. J. Seo, *Higher-order Daehee polynomials of the first kind with umbral calculus*, Adv. Stud. Contemp. Math. (Kyungshang) **24** (2014), no. 1, 5–18. MR 3157404
- [13] T. Kim, *An analogue of Bernoulli numbers and their congruences*, Rep. Fac. Sci. Engrg. Saga Univ. Math. **22** (1994), no. 2, 21–26. MR 1257601 (94m:11024)
- [14] ———, *An invariant p -adic integral associated with Daehee numbers*, Integral Transforms Spec. Funct. **13** (2002), no. 1, 65–69. MR 1914129 (2003f:11184)
- [15] T. Kim and Y. Simsek, *Analytic continuation of the multiple Daehee q - l -functions associated with Daehee numbers*, Russ. J. Math. Phys. **15** (2008), no. 1, 58–65. MR 2390695 (2009a:11243)
- [16] Y.-H. Kim and K.-W. Hwang, *Symmetry of power sum and twisted Bernoulli polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **18** (2009), no. 2, 127–133. MR 2508978 (2010b:11027)
- [17] N. M. Korobov, *On some properties of special polynomials*, Proceedings of the IV International Conference “Modern Problems of Number Theory and its Applications” (Russian) (Tula, 2001), vol. 1, 2001, pp. 40–49. MR 2035591 (2004k:11027)
- [18] Q.-M. Luo, *Some recursion formulae and relations for Bernoulli numbers and Euler numbers of higher order*, Adv. Stud. Contemp. Math. (Kyungshang) **10** (2005), no. 1, 63–70. MR 2108686 (2005h:11039)
- [19] H. Ozden, I. N. Cangul, and Y. Simsek, *Remarks on q -Bernoulli numbers associated with Daehee numbers*, Adv. Stud. Contemp. Math. (Kyungshang) **18** (2009), no. 1, 41–48. MR 2479746 (2009k:11037)

- [20] J.-W. Park, S.-H. Rim, and J. Kwon, *The twisted daehee numbers and polynomials*, *Advances in Difference Equations* **2014** (2014), no. 1, 1.
- [21] S. Roman, *The umbral calculus*, Pure and Applied Mathematics, vol. 111, Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984. MR 741185 (87c:05015)
- [22] Y. Simsek, *Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions*, *Adv. Stud. Contemp. Math. (Kyungshang)* **16** (2008), no. 2, 251–278. MR 2404639 (2009f:11021)
- [23] Y. Simsek, S.-H. Rim, L.-C. Jang, D.-J. Kang, and J.-J. Seo, *A note on q -Daehee sums*, *J. Anal. Comput.* **1** (2005), no. 2, 151–160. MR 2475196 (2009j:11039)
- [24] Yilmaz Simsek, Seog-Hoon Rim, Lee-Chae Jang, Dong-Jin Kang, and Jong-Jin Seo, *A note on q -Daehee sums*, *Proceedings of the 16th International Conference of the Jangjeon Mathematical Society, Jangjeon Math. Soc., Hapcheon, 2005*, pp. 159–166. MR 2196573 (2006j:11028)
- [25] N. J. A. Sloane, *The on-line encyclopedia of integer sequences*, *Ann. Math. Inform.* **41** (2013), 219–234. MR 3072304
- [26] A. V. Ustinov, *Korobov polynomials and umbral analysis*, *Chebyshevskii Sb.* **4** (2003), no. 4(8), 137–152. MR 2097912 (2005m:33018)
- [27] C. Wang, N. Li and H. Li, *Some identities on the generalized higher-order Euler and Bernoulli numbers*, *Ars Combin.* **102** (2011), 517–528. MR 2867750 (2012i:11026)